Algebraic Proof
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Algebraic Proofs GCSE Higher Tier A/A*Grades KS4 with Answers/Solutions

Provethat(n +4)? — 3n+4)=n+1)(n+4)+8
Provethat(m+4)2 — B3n+4)=n+2)(n+3)+6
Provethat (m+3)2 —3n+5)=n+1D(n+2)+2
Provethat(n —5)2 - (2n—1)=n-3)(n—-9) -1
Provethat(m —3)2—(n—=5)=n—-3)(n—4) + 2
Prove that%(n +1)(n+2)— %n(n +1)=n+1
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Prove thati(Zn +1)(n+4) - %n(Zn +1)=2n+1

8. Prove that (3n + 1)? — (3n — 1)? is a multiple of 6 for all positive integer
values of n.

9. Prove that (4n + 1)? — (4n — 1)? is a multiple of 8 for all positive integer
values of n.

10. Prove that (5n + 1)? — (5n — 1)? is a multiple of 5 for all positive integer
values of n.
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8. Prove that (3n + 1)? — (3n — 1)? is a multiple of 6 for all positive integer

?)
values of n.
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2. Provethat(n+4)* - Bn+4)=n+2)(n+3)+6
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3. Provethat(n+3)?—Bn+5) =0+ 1Dn+2)+2
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